
strong weak non- 

Conductivity 
depends on 
the amount 
of ions in 
solution 

http://chemconnections.org/general/movies/html-swf/electrolytes.htm 

Add 5.8g of sodium 
chloride to water to make 
1.0 L of solution = 0.10M 
= 0.10 mol/L 

All of the sodium chloride ionizes to 
make 1.0 L of  solution = 0.10M Na+ 
and 0.10M Cl- 



How many grams of 
calcium chloride (MM 
=111 g/mol) should be 
added to water to make 
1.00 L of a 0.10M 
solution of calcium 
chloride? 

How many grams of 
calcium chloride (MM 
=111 g/mol) should be 
added to water to make 
1.00 L of a solution 
having 0.10M chloride 
ion? 

strong weak 

- Consider that aqueous ammonia is in equilibrium with 
ammonium hydroxide. The names have often been used 
interchangeably.   



NH3 (aq)    NH4
+

(aq)+ OH-
(aq)  NaOH (aq)    Na+

(aq)+ OH-
(aq)  

strong weak 

HCl(aq) +  NaOH (aq)      NaCl (aq) + H2O(l)!

H+
(aq) + OH -(aq)      H2O(l)	





x H+
(aq) + x OH -(aq)        x H2O(l)	



If an antacid contains Al(OH)3 it will form AlCl3 upon
 neutralization of stomach acid. How many moles of Cl–

 ions are in 100.0 mL of 0.010 M AlCl3?	



A. 0.0010 mol	


B. 0.010 mol	


C. 0.0030 mol	


D. 0.030 mol	



If an antacid contains Al(OH)3 it will form AlCl3 upon
 neutralization of stomach acid. How many moles of Cl–

 ions are in 100.0 mL of 0.010 M AlCl3?	



A. 0.0010 mol	


B. 0.010 mol	


C. 0.0030 mol	


D. 0.030 mol	



AlCl3 dissociates into 3 moles of Cl–. 

moles (Reactant) moles (Product) 

(Volume) 1 L!

1 L (AlCl3)!

0.010 mol  
(AlCl3)!

? mol (Cl -)!
? mol  Cl --!

? mol AlCl3 "

"Gatekeepers”!
from!
Balanced reaction 

   100.0 mL (AlCl3)!

(Volume) !
1000 mL!

AlCl3 dissociates into 3 moles of Cl–. 
AlCl3 (aq)        Al3+

(aq) + 3 Cl–(aq) 
 

Pb(NO3)2 (aq) +    NaI (aq) →  
NaNO3(aq)  +  PbI 2(s)!

How do you know the state
 of the products: (s) vs.
 (aq)? 

What type of reaction is it? 
Double Displacement
 & Precipitation 

Write a balanced equation
 for the reaction. 

2 
2 



Given the insoluble compound Al2(CO3)3 predict the ions
 and coefficients that would be necessary to complete the
 following net ionic equation:	



__ _____ + ____ _____ → Al2(CO3)3 	



A. 2 AlCl3 + 3 Na2CO3 also include 6 NaCl on right	


B. 3 Al3+ + 2 CO3

2–	



C. 2 Al3+ + 3 CO3
2–	



D. 2 Al3+  6 Cl – + 3 CO3
2– + 6 Na+ 	



1	

 2 	



1	

 2 	



= MNa2SO4 x VNa2SO4  / 1:1stoichiometry!

= 0.10M x 0.050 L!
= 0.0050 mol!



Pb(NO3)2 (aq) +    NaI (aq) →  
NaNO3(aq)  +  PbI 2(s)!

Write a balanced Net Ionic
 equation for the reaction. 

2 
2 

Pb 2+ (aq) + 2 I 1- (aq) → PbI 2(s)  

What are the spectator ions
 in the reaction? 

2 Na 1+ (aq); 2 NO3
1- (aq)!

If you began a reaction with the following ions in solution (all
 would be written with an (aq) subscript how would you represent
 the proper final net ionic equation? (Consult solubility Table.)	



6Na+ + 2PO4
3– + 3Fe2+ + 6NO3

– →	


A.  	

3Na+ + PO4

3– + Fe2+ + 2NO3
– → No Reaction	



B.  	

6Na+ + 2PO4
3– + 3Fe2+ + 6NO3

– → Fe3(PO4)2 (s)+ 6NaNO3	


C.  	

3Na+ + PO4

3– + Fe2+ + 2NO3
– → Fe3(PO4)2 (s)+ 6 Na+ + 6 NO3

–	



D.  	

2PO4
3– + 3Fe2+ → Fe3(PO4)2 (s)	




